Division par 0,1 (E)

Trouvez chaque quotient.

85+0,1= 52+0,1=
19+0,1= 75+0,1=
50+0,1= 27 +0,1=
24 +0,1= 15+0,1=
87 +0,1= 3+-01=
46 + 0,1 = 38+0,1=
48 - 0,1 = 81+0,1=
67 +-0,1= 39+0,1=
12 +0,1 = 82+0,1=
92 +0,1= 84 +0,1=
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Division par 0,1 (E) Solutions

85+ 0,1 =850

19+0,1=190

50+ 0,1 =500

24+ 0,1 =240

87 +0,1=870

46 - 0,1 =460

48 = 0,1 =480

67 +0,1=670

12+0,1=120

92 +-0,1=920

Trouvez chaque quotient.

52 +0,1 =520

75+0,1=750

27 +0,1=270

15+0,1 =150

3+0,1=30

38 +0,1 =380

81+ 0,1 =810

39 +0,1=390

82 + 0,1 =820

84+ 0,1 =840
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